TMSHEE ERRER

AEERHIEBRPER
B M W IR A AL K 3= =
8:30
~ =13 )] i fe b=
8:50
8:50
~ 1 2 F (FEEHKSR)
9:40
9:50
~ =2 (EfEiREHS)
10:40
10:50
~ 3
11:40
11:50
~ a
12:40
12:40 ~
13:00 B B
13:00 ~
13:20 R hin'd E S
13: 20
~ 5 SEHRE B & 2FHBE
14:10
14:20 mEE
~ S 184 SEMWE |14 15~| 2FHHBE
15:10 A OB’
14 : 20~
15:10
~ B =2 &
15:20
15:20
~ 1 b
15:835
X KEAXESHERTRIZERE BFREMEMTS,
% AEH~SBEHOHORKHETEORFEFE - FMTHEET - ZEIM L - ROBE - HiE
FPHHEEFICHT, REZHOE, BEOERE, BHFOBMICETS,
X AD1BEEZ2FEHETEE KOSHREZEFERAETERELET S,
X [HREMLZEORMBEL I, ZETEICADRKER €05 - 6FKER - kD5 - 6K
PREZ3xT5,
X BELSE - -HREEEFORESEX FRA4s5HHFEL-LT, AEEHD 158K 1 5%,
FIEIKREBD14KB2 090 5FBT 5,
X HFFES - AFKEBERFEIAREBOEL LBFZAERD - XIEB - KIEB - €EBDE
6ERIRTRICMHESRIT, 1510900 DMB (4508 2HEALET S,
X EEEERICHEEMTIEEE, AFEEHS - TEERKESET S,
X ERERF, RAIA1EARBORAICITS.




